2ABE =720
If AB||BD then ~ABE =X
angles] x=72°

[Alternate

4. QPR = SRP =40°
X = 2SRQ = .SRP + ».PRQ [Alternative

angles] X =600 + 40° = 100° s, Extend CD to X
A C

[Alternative angles]

120°

2ABX = 2.CXE =120°
exterior angle of ADXE)

X=1200+35° [Xis
X = 155¢°

16. y = 1800 — 42 = 1380
2PQW = .RSQ =420

420+ X + 680 =

1800  x=70° \N
P%@#‘%s = 2080 P a—ge

17. .ACB =180°—(.CAB + .CBA)
<PAB + .RBA = 180°

CPAB ['RBA
+

=90
2 2
+CAB + .CBA =90°

2ACB = 180° — (90°) = 90°

18. 2RPQ =180°— (40° + 40°) = 100°
(100° + 30°) = 50°
300 +Yy =400

X = 180° -

(BPQ and 2DQP are corresponding angles).

y =10°
X +Yy =500+ 10° = 60°

19. .ABC = .BCD =70° [Alternate
<ECD =180°—140° = 40°
[As angles FEC and ECD are co-interior angles]
400+y=70> y=30° EF
CDU then 2y + X = 180° X=
1800 — 2y = 180° — 60° = 120°
20. Extend ABto E

A
75°
B C

II 7 5 o
A D
E

angles]

BC DE , so «ABC = AFD = 75¢°

CD BE[], hence X + 750 =
180¢° X =105°



